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Topic:- Physics

1) If the radius of the earth were to shrink by one percent (its mass remaining the same), then the acceleration
due to gravity on the earth’s surface would .

Ifg qedt A s e gfaerd a6 RFs o (39 geqd@= @) @), a gzt 1 Fde W Tecd F FROT
T I

1. decrease / €I
2. increase / &I
3. be reduced by one percent / Teh YTIAT deh €T ST

4. remain unchanged / § s IRAIT 8l &R

Correct Answer :-

« increase / Il

2) When a bar magnet is slowly brought near a paramagnetic substance, then the paramagnetic substance
will .

UF &5 gad F RN 59 UF AqgEhT wSi F 9 A= S g, e gerd
1. be feebly attracted / fAeeIaT & 3MRTNT g M|

2. be feebly repelled / fAserar & 91 Yol T SITUAM|

3. be strongly attracted / TGaT ¥ 3ThINT M|

4. remain unaffected / JTHTTAT Tgam|

Correct Answer :-

« be feebly attracted / IGECGIR: KGN G gham|

3) When does a convex mirror form a magnified image? /

3cdd qUuT U Jrafta wfafdT @ emar 82

1. When the objectis at F. / STe a&Eg F W BT g1

2. When the object is beyond 2F. / ST&f @& 2F & W gicll ¢l

3. When the object is between F and R. / 519 9&J F IR RF #7LF 8T B

4, It never forms a magnified image. / Ig HefT 8 3mafeia wfafsa sgT s=irar &1

Correct Answer :-

« It never forms a magnified image. / g i 8f 3mafeia wfafea a7 s=Irar &1



4) A mass ‘m’ is suspended from a spring and its frequency of oscillation is ‘f*.The spring is cut into two equal
halves and the same mass is suspended from one of the two pieces of the spring.The frequency of oscillation of the
mass will be: /

‘m’ GEIA U T & dewrn = ¢ 3R swehr Qe i amgfed of' €1 R @ & e Reat # @
ST ¥ AR A geaA F T F A ¢St A @ v F e A A {1 GoAAT F Qo A
e ga:

1. \2f
2.f
3.2f
4. 12

Correct Answer :-

o \2f

5) A person standing on a lift is moving upward with acceleration ‘a’. The apparent weight of the person will be:
/

fde & @31 vw AT c@Tor 'a' F W FUT A 3T 9¢ @7 &1 AT FT v Forer @

1. Less than the actual weight / dTEdTds dold & Fe

2. More than the actual weight and continuously changing / dFdide dold ¥ 3% T Tdd IR
3.Zero/ Y

4, More than the actual weight and have a fixed value / aT&dde goiaT & 31f8® vg AfRTT A & Ty

Correct Answer :-

« More than the actual weight and have a fixed value / arEdids aolel ¥ 31T va T AT & @y

6) Current gain in a common emitter configuration of a transistor is more than one because: /
TF Tfoel & AHT TReX Reaw & arr afey v & a1 §, +9ifs:

1. I <y

2. IC = Ib

3. I>1h

4. [ >,

Correct Answer :-

o [ >

7) A spherical ball of mass 20kg is stationery at the top of a hill of height 100m. It rolls down a smooth surface to
the ground, then climbs up another hill of height 30m and finally rolls down to a horizontal base at a height of
20m above the ground. The velocity attained by the ball is: [given: g = 10m/s? and the path followed by the ball is
frictionless] /



2oﬁm1mmmﬁwmmﬂz1oomaﬁm$eﬁéwﬁua%lwmﬁm'ﬁm
amwwﬁaﬁhmwmm%ﬁwsomaaﬁhwsﬁrqmawm%sﬁtmﬁam#

20 #Hrex At A W oF AfaT IR W AR Jewar g1 I g@arr wred Ao (R I=w F g = 10mss? AR
g @RT T S arer [ R ¥

1.40 m/s / 40 He/AHs
2.20m/s / 20 FHeI/THs
3.10m/s / 10 Hey/ashs
4.30 m/s / 30 He/AHs

Correct Answer :-

e 40 m/s / 40 HreY/AHs

8) What happens to the energy level of an atom as the quantum number increases? /
FACH HEAT qGa1 T UH AT F FaAl T FT F4T g1l 82
1. The energy level of an atom remains constant /

T TRAT & Fol TR TR Gl &

2. The energy level of an atom decreases/

Teh GATY] & Foll F e &l

3. The energy level of an atom increases /

Teh TATY] T Sl T TG &
4. The energy level for low atomic numbers and increase for high atomic numbers /
foieeT W] FEdr & v Sefl &R 3R 3Ta WAY] FEdr & O gy
Correct Answer :-
« The energy level of an atom decreases/

Teh GATY] & Foll T e gl

9) Rotational motion is possible / E[\“ﬁ afy @ &

1. Only in two and three dimensional motion / Fad & I dieT adT aifg &
2. Only in one and two dimensional motion / $had Ue AT af faeiT aifa &

3. Only in one dimensional motion / hdel Teh TaHT afa F;

4, Only in three and one dimensional motion / &del diel IT T faeiy aifa &

Correct Answer :-

« Only in two and three dimensional motion / Fad g a1 dieT ey aifa &

10) Convection does not take place primarily in: /
aed HET T ¥ $HA 781 8T ¢

1. Heating of air around a furnace /



T #ET & IRI 3R gaT & ardel
2. Warming of the glass of the filament lamp which is evacuated /

Thelldie oFd (dq oFT) & e &1 a3 e #; S Faifaa fear amr gl
3. Land breeze and sea breeze /

Il AR AR STel AR

4, Boiling of water /

Tl & 3d9clel

Correct Answer :-

« Warming of the glass of the filament lamp which is evacuated /

e e (dq o) & [emd &l a8 e #; S Haifad fhar a2 gl

11) An electric heater of 2.16 kW is immersed in water. After the water has reached a steady temperature of
100°C, the time taken to produce 200g of steam at 100°C is (Ljap,= 540 cal/g): /

2.16 frellare aren T gAfFed €ieX Tt F gET S §1 9 F 100°C & RRR AOAE aF wgea &
1€, 100°C X 200 ATH arsq FT AT FA F AT AT TAT TF7T (Lameg =540 Far/am) &:

1. 200s
2.210s
3. 105s
4. 50s

Correct Answer :-

e« 210s

12) An erect image two times larger than the size of the object is obtained using a concave mirror of radius of
curvature 20cm.Find the position of the object. /

v Wl i, avg & IFR F Y a1 99 @t S 20 JeA AT FHar BSAT F @S T FT IGANA
& ged F et §oawg B ufa wa <o)

1. 3.3cm in front of the mirror / 40T & ATHA 3.3 T,

2. 5cm in front of the mirror / UUT & ATHA 5 THAY. Hr ?.‘,:\Pf X
3. 10cm from the image / &fd & 10 9.

4. 6.6 cm in front of the mirror / UUT & FTHA 6.6 [T

Correct Answer :-

« Scm in front of the mirror / 90T & FTHA 5 JHY. &r E‘@ qI

13) A moving particle of mass ‘m’ makes a head on collision with another stationery particle of mass ‘2m’ and
sticks to it. What fraction of its initial kinetic energy will the mass ‘m’ loss after the collision? /

SEAATA 'm' AT UF ATAATT FOT gedAe '2 Hew F guy BUw F7 & Y JHA-THA e § R
U R9F ST &1 TFRT F 916 G ¥AT 'm' ¥ S URAF Afafied FT F Faa v i gl e



o | oo

oo | O

4.

Correct Answer :-

14) An astronomical telescope set for normal adjustment has a magnifying power of 20. If the focal length of the
objective is 1.0 m, then the focal length of the eye piece will be: /

A AR & faT 9T 5 1 vF @At qraedt #r smade awrar 20 ¥ IR PTIE i BEw
gl 1.0 7t &, & aAfF i v g gelt

1.70cm / 70 ¥H
2.5cm / 5 HA
3.7cm / 7 QA
4,50 cm / 50 @Y

Correct Answer :-

« 5cm /5 @AY

15) Two lenses of focal lengths 10cm and -20 cm are held in contact. The image of an object placed at infinity will
be formed by the combination at ./

108 3R 2095 BFE TS qT@ QY AW FIF A W@ T Hedd W @ awq F gfafew
' W WA gart A gem

1.20 cm / 20 Q#T
2.10cm / 10 3
3.30 cm / 30 QY

4, ®

Correct Answer :-

« 20cm / 20 T

16) Ten equal resistors which are connected in series across a source dissipate a net power of S0W. If the same
resistors are connected in parallel across the same source, then the power dissipated will be: /

& @a F Aol F 3 gw T wfodu, 50w A fge afFa e wxa §) afe weer wfodess, s
A & IIH FAER A A 9, O a7 afFa g



1. 500W
2. 50kW
3. 5kW
4. 5W

Correct Answer :-

« S5kW

17) A wire in the form of a circular loop of one turn carrying a current produces a magnetic field ‘B’ at the center
of the coil. If the same wire is looped into a coil of two turns and carries the same current, then the new value of
magnetic field at the center is i

TH B F MAHR IRN F T H YR Jafed T dR, FSell & $g W Th qFahrd & B’ 3cdeed Al
21 3 arR A & W arelt Foseh F wfla frar T § 3k 9 AW awr Al e 3, F W ged
& FT AT A gnam|

1. B2
2.B
3.2B

4. 4B

Correct Answer :-

18) A particle moves with a constant speed ‘v’ along a circular path of radius ‘r’ and covers the circular path in
time ‘T’. The acceleration of the particle is: /

TF HT AT ' T MATHR 9T G TF @Fd 91l v’ @ afaA=T ¢ 3K T 77 & MaeR 90 & a7
FIAT &1 FT HT a0 &

(2mv?)
. T
(2mv)
2 T
(2mr?)
3. T
(2mr)
a T

Correct Answer :-

19) Refractive index of a transparent material is: /



T yReedt @At &1 rqadas:

1. Same for all colors / T W & T AT gam &1

2. Minimum for violet color / ST TWT & forw gldH giar &1
3. Maximum for red color / &l 3T & [T & dH gaT &1

4. Maximum for violet color / §3TAT T & forw 1feder gxar gl

Correct Answer :-

« Maximum for violet color / S @I & AT 31f&Had gar gl

20) Which of the following material has the maximum Young’s modulus: /
fafaf@a & & Fla-@ avg &1 ARFaA o AWF g

1. Copper / GIE]!

2. Steel / E&rel

3. Wood / ol&har

4, Rubber / T&X

Correct Answer :-

. Steel / T

21) Which of the following statements is CORRECT regarding a simple harmonic motion? /
famafaf@a & @ sa-a1 w397 e W Irad afa F w9 7 w6
1. Acceleration is maximum at equilibrium position. /
TFATGEAT W caoT AThdA g &l
2. The potential energy is maximum at the mean position. /
ATET v W RUfaer 35 3fwan g ¥
3. The force acting on the particle is maximum at the extreme position. /
FUT W HRRT g TRHA ITEAT W A™hdd giar B
4, The kinetic energy is minimum at the mean position. /
AEY AT W ATAST Foll w1 H giehl &
Correct Answer :-

« The force acting on the particle is maximum at the extreme position. /

HUT W HRRT g TRHA ITEAT R &HhdH giam 2

22) A black body at a temperature TK radiates heat at a rate ‘E’ per second.If that black body is cooled to (T/\2)
K, then the rate of heat radiation per second at this new temperature is: /

AYA TK W T &rel Ae, 9fd 8% 'E'H a7 FsAT &1 {AfH0r tar g1 3R 389 s [e &t
(T/ V2) K & 331 fFaT 91T §, a9 36 aA¢ J9AT W 9fa ds AT (T &I &

1. E/2



2. E/16
3.E/6
4. E/4

Correct Answer :-

- E/4

23) Molar specific heat at constant volume for a non linear triatomic gas is: /

TF N B dw F fRAr R smrad ) AR fAftse s g @
1.3R

2.4R

3.R

4.2R

Correct Answer :-

24) The half-life of Astatin?13 (At215) is 100 micro seconds.The time taken for the radioactivity of a sample of
AE15 to decay to 1/16™ of its initial value is .

teafea?1S (A215) F1 IruTg Frer 100 AR s T ALY F qo 1 BTG F1 39F WA o7 F
17160 & &1 gt & fAT Iar gHT ghom:

1. 40 microseconds / 40 HTSH! Ths
2. 300 microseconds / 300 HSHI THsS
3. 6.3 microseconds / 6.3 EFI'IS'sﬁ Ahs

4. 400 microseconds / 400 FTSHI HHS

Correct Answer :-

« 400 microseconds / 400 FTSHT Hhs

25) The diameter of the given brass rod is 2 mm.Young’s modulus of brass is 9 x 10° N/m2.The force required to
stretch 0.2% of its length is .

& 5 g Y BN FT g 2 AN T AGT FT FoT AGF 9 x 10° N/m? §1 TP d9E F 0.2% dF
ot & AT T 9 &

1. 36N
2. 36mN
3. 18N
4. 18N

Correct Answer :-

o 187N



26) The escape velocity for an iron ball of mass 10g from the earth is 11.2 km/s Neglecting the air resistances, the
escape velocity for an iron ball of mass 10 kg from earth will be: /

gedt & 10 AH FeIAT are difg g FT gAr 3w 11.2 BT 71 arg afadet i 39T Qg
gt & 100 fralamer gegare #t @lg 9T & fv gomaer a9 gem:

1. 11.2 km/s

2. 0.056 km/s
3.0.0112 km/s
4.0.00112 km/s

Correct Answer :-

e 11.2 km/s

27) The sum of the magnitudes of two unequal vectors at a point is 18. Magnitude of their resultant is 12. If the
resultant is at 90° to smaller vector, then their magnitudes are: /

% fig o o srwaAe afeat & aR@mo &1 ahr 18 B1 3w aRomer &1 af@mor 12 31 3f aRomr ek
afger ¥ 90 3l v &, Y 3a7% aRaor §:

1.15and3 / 15 T3 3
2.12and6 / 12 TG 6
3.10and8 / 10 U9 8
4.13and5 / 13 Td 5

Correct Answer :-

« 13and5/ 13 Wd 5

28) The induced e.m.f. produced in a coil placed in a magnetic field depends on the i
TF e a7 H W TF FI A 3% IR S.UATH 9T e Far gl

1. rate of change of magnetic flux linked with the coil / W a G_I.,? ﬂ_ﬁm gdlg & gRadel &l &3
2. magnetic field / E_,I,El'eﬁ'q SE}

3. thickness of the coil / sﬁ?fﬁ $r Aers

4. area of the coil / i%??f HT & Thel

Correct Answer :-

« rate of change of magnetic flux linked with the coil / SET‘?F a SJ’? ?:I:SI?ﬁ?I gdlg & IRade $r &3

29) The nuclei 6C13 and 7N14 can be described as J
ARAF (C13wa 7N4 &Y ¥ ™ & afota T s wFar g

1. isobars / AN (MSHIER)
2. isotopes of nitrogen / = Scloled & HATUIASR



3. isotopes of carbon / FIeeT & FHATAAS
4. isotones /| HHYGIIeh (3TSHICIH)

Correct Answer :-

« isotones / WFZI‘\E:IJ'T?H? (3Tsae)

30) The dimensional formula for the universal gravitational constant is: /
AT arecarRdor R #1 A g7 ¥

L. M1L3T?

2. MIL3TY

3. [ML3 T2

4. [MLT?]

Correct Answer :-

31) The dimensional formula for Bulk modulus is: /

AT TARIAT A (To Alzgeqw) &1 FFlT 97 &
1. [ML3T?]

2. [ML2Th

3. [ML7T2]

4, [MLIT2]

Correct Answer :-

32) The orbital speed of a satellite revolving around a planet is independent of the: /
Rl % & IRT 3R TFHT F I 39AT A FANT AfY AET F FaaT @ @
1. Distance of the satellite from the centre of the planet / g & whg & 39IUE HI @

2. Distance of the satellite from the surface of the planet / g Fr Hdg a 39dIg Fr q\ff

3. Mass of the satellite / 393G & GeIHTA

4. Mass of the planet / I§ & GeIHATT

Correct Answer :-

« Mass of the satellite / 39IE & GeIHTA

33) The energy of a hydrogen atom in its ground state is -13.6 ¢V.The energy of the level corresponding to the
quantum number n =5 is: /



fAFTas raear & v g WATY Y FST -13.6 eV §| FACH FEAT n=5 & IET T AT FalT ¢
1.-2.72 eV
2.-5.40 eV
3.-0.85¢eV
4.-0.54 eV

Correct Answer :-

« -0.54eV

34) The Biot-Savart law in vector form is: /

afger &1 # s-a9 &1 fF9A &
, B=po/dm x Idlxr) /1

, dB=po/An x I(rxdl)/r
; dB=po/4n x I(dlxr)/r?
, B=po/4n x dl(Ixr)/r

Correct Answer :-

dB=po/4n x I(dlxr) /1

35) The radius of gyration of a uniform disc about an axis passing through the center and perpendicular to its
plane is k. Then its radius of gyration about a tangent parallel to diameter is: /

I+t FaE F daad IR F F ATIH F T oA aATl T W TF FAT BER A aRerwor B k
¢ 9 & & WA Tt Y@ A aRewer B @

1. N(5/2)k
2.3(2/5) k
3.5/2k
4.2/5k

Correct Answer :-

« (512)k

36) An object is placed 10 cm in front of a convex mirror of focal length Scm ,The image formed is: /

TF € 5 Wl A Flwd daT$ a Scad GUOT F TR 10 A T @& 7% 2, e sy e
1. Real, erect and diminished / ardfaeh, drel 3R gifdda

2. Virtual, inverted and enlarged / 3THTEY, 3o<l 3R fAara

3. Virtual, inverted and diminished / 37T, 3e¢r 3R & Ad

4, Virtual, erect and diminished / 3mmarey, Tely 3t grf@a



Correct Answer :-

« Virtual, erect and diminished / 3mmaray, TelYy 3 grf@a

37) A radioactive substance has a half life of five months. 75% of the substance will decay in: /
e ReeRre T & g I G A 1 T F 75% anr g

1. Fifteen months / 9egg Hglel

2. Four months / IR HgleT &

3. Five months / 9T Hglel &

4. Ten months / & HglA &

Correct Answer :-

« Ten months / &8 HaleT &

38) A radioactive nucleus may emit: /
s WA afRF scusia F Fwar &

All o¢, B and 7y simultaneously /

, T WY o, BHR yA=m

either o or B or 1y at a time but not simultaneously /

, U% WAT H AT &5 o AT BAT y AfFA ve wIw A

Only « and B simultaneously /

;, T WY Fad o 3R B

Only B and y simultaneously /
, TF Y Fad B3R v

Correct Answer :-

either o or B or 1y at a time but not simultaneously /

T HAT H AT A o« JT BAT v Al Tk AT gl

39) A rectangular frame of area 10m? is placed in a uniform electric field of 20Vm'!, with normal drawn on the
surface of the frame making 60° angle with the direction of the field. The electric flux through the rectangular
frame is: /

10 #2 & Aawe JTem TEF FAAHER FA 20Vm! I TF FA Regd &F A @1 A @, A H waw
W AAT T § G o 8T Y & F G 60° FT FI0T Fo1a1 ¢ HIAFER $AT F ATIH § ToRA
mﬁagam%

1. 100V3Vm
2.100Vm
3.200Vm

4. 50\3Vm



Correct Answer :-

« 100Vm

40) If an AC ammeter is rated 230V, 12A, then the respective effective values of potential difference and current
of the ammeter are: /

I T Tt THleT #F 230V, 12 A 13 fFAT 1 @ el F fsraiaw ik awr & e gandt A &
1.230\2V & 1292A
2.230\2V & 12A

3.230V & 12A

Correct Answer :-

« 230V & 12A

41) If a body is acted upon by a constant force, then it will have a uniform i
& e W F e a0 F1F a1 §, df 397 wwaAe _ geml

1. momentum / HAIT

2. speed / T

3. acceleration / cdUT

4. velocity / 99T

Correct Answer :-

 acceleration / cd3Ul

42) Light of which of colour produces wider diffraction pattern? /
e T 1 v gew 913 Rade yfaww #1 seaeT Fwar 87
1. Yellow / dYerr

2. Blue / eIl

3. Green / 8T

4. Red / ©flel

Correct Answer :-

+ Red / dfTel

43) The dimension of Planck’s constant is equal to that of i
wdi® fadis 1 3 & T B

1. angular momentum / SOfT HAT



2. energy / oIl
3. momentum / HAIT
4. power | ATFT

Correct Answer :-

« angular momentum / HIONT FHAT

44) A vehicle is moving with a speed of 18 km/h. How much distance does it cover in one second? /

UF g 18 RrHl/Eer A OTer § A 97 @ ¥ vF AHs F qg fhae gt (AR ) aw sem
1. 18m

2. 1.8m

3.0.5m

4, 5Sm

Correct Answer :-

45) An 8 meter wire kept in east-west direction is falling with velocity 4 m/s perpendicular to the field 0.3 x 10”

4Wb/m2 The induced emf across the wire will be: /

8 X & F AR F qF-TRTH A2 H W@ X 4 A F 37 F &7 03 x10“Wb/m? F daaa R
J1ar §1 R # e duaew gem:

1.9.6 mV
2.0.96 mV
3.096 V

4.0.096 mV

Correct Answer :-

e 0.96 mV

46) The electrostatic potential energy of two point charges, 1uC each, placed 1m apart in air is: /

ar g smaut i g Rufds Fa1 #ar g, FafF v@F @ amder 1uc @, ik Q= & g1 &
wF gay ¥ 1# S g W

1.9x 10
2.9x 103eV
3.9x107]
4.9x 103

Correct Answer :-

e 9x1073J



47) Fornitrogen gas Cr— Cv="a" and for oxygen gas Cp — Cv=‘b’the relation between ‘a’ and ‘b’
is given bv: /
ASESA 3T Cp-Cv="2" 3R 3 i Ce-Cv="b & v 2" 3R v &F &=
FT e e g@nT A S

l.a=b/2

2.a=b

3.a=7b

4.b=7a

Correct Answer :-
e a=b

48) Two point charges of +6uC and +4uC repel each other with a force of 10N If a charge of -6uC
is added to each of these charges, then the force will be: /
ar fdg 3maer +6uC HR +4uC vHgEY & 10N & aa & fawlla a=a §1 afg s
et F ¥ udS F -6uC 33 ST AT . dr g gem

1. 15N
2. 10N
3. Zero / [T

4. 5N

Correct Answer :-

o Zero / W

49) A coil having N tums and resistance RQ is connected in series with a galvanometer of resistance
3R This combination is moved for a time ‘t” seconds from a magnetic flux 1 Weber to ®2
Weber. The induced current in the circuit is: /

us Fsel o N Y 3l oftrer R O, 9feier sR 0F dAedeiex & amr Aofr &
I3 §5 ©1 UE TS Th Yrahiy HHEE &1 IR ¢2 dR dF FHY ¢ AhS &
BT vaAEaRa B Smar 81 ooy & 9RT arr &

N(d; - $2)
1. Rt

D -D:
2. BRt

N -P2)
3. 6Rt

(P - P2)
4. RNt

Correct Answer :-

N(D; -P2)
6R1t



The current in a primary coil of a transformer as shown in the given figure will be: /

& 1 Apfa # f@re 71w ve grEwHT F arufdEs FEer § gnr geh

P & 3
Vp= 440V Vs=44V
440 £2
p‘ s

1. 10A
2.0.01A
3.0.1A
4. 1A

Correct Answer :-

« 0.01A

Topic:- Chemistry

1) |dentify the suitable set of reagent/s to convert 1,2-dibromo-1-phenyl ethane into acetophenone /
1,2-31581A)-1-farser 597 1 WA & Jgaa F v AffFAw/F & 39gFa d¢ A gga= AT
1. NaNH, & KMnO4/H*

2. NaNH, & H,0, HgSO,, H,S0,

3. KOH (alc.) & H,0, HgS0,, H,50,

4. KOH (alc.) & KMnO4/H*

Correct Answer :-

. NaNH2 & Hzo, HgSO4, H2504

2) |dentify an example for thermoplastic from the following. /
famafaf@a & @ auguey ¥ Qv & 3eRIor #it ggae fifgw)
1. Urea-formaldehyde / W—m

2. Bakelite / Sohellse

3. Terylene / el

4. Polyvinyl acetate / q?ah‘fa?rrs'ar vdiee

Correct Answer :-

« Polyvinyl acetate / GiellidaTSel THICE



3) Identify the compound with the least dipole moment. /

faFras gfaya smget arer AifAF A wEEfaT)

| HC=C——CH,—CH,

, HC—C==C—CH,
HC=C——CH=CH,
H4C CH
¥ \ ; 3
C—CG
/ \
4. H H

Correct Answer :-

H.C—C==C—CH,

4) Which among the following statements is INCORRECT regarding the use of petroleum products?/
PARAIH ISl F 39T F Ty H Arafaf@d & F Fla-ar ya 909 2
1. Gasoline is used as fuel in motors /
e H U7 & & F AT 1 39T fHar Srar B
2. Ligroin is used as fuel for domestic purposes/
e TSl & AT sue & &9 7 faaigs &1 3uahr fFar s 2l
3. Kerosene is used as a fuel /
AT T TR ST & &7 F fHAT ST B
4. Petroleum jellies are non-volatile substances used for medicine preparation /

YAoH Sl Av-arsaeiier geret & forgenr 3uter gar i JIy & R S #

Correct Answer :-

» Gasoline is used as fuel in motors /

AR F $94 & 7 F ATl H1 39T HAr 1T g

5) Which among the following compound has the C-H bond with the lowest bond dissociation enthalpy? /
fAmfaf@a # @ fFe e & e F7 39y RAEee tded (@i eian) afea C-H smeer 82
1. 2,2,-dimethyl propane / 2,2,- SEAUSS AT

2. Benzene / Soilel

3. n-pentane / n-9ceT

4. Toluene / E’IFQ\'%

Correct Answer :-

« Toluene / Efl(vat\?-l



Which among the following complexes is not found naturally in the biological systems of plants or animals?/
farafaf@a & & Fla-& wFa (@iF), gt ar gyat # SAfw gonfaat § w@enfas & F @ ae s
2

1. Cyanocobalamin / TITATRITTHIT

2. Cisplatin / f@Fceifest

3. Haemoglobin / graAFclITaeT

4. Carboxypeptidase / e fFaaEssT

Correct Answer :-

« Cisplatin / f@Fcoifes

7) Which among the following complexes will have the highest electrical conductivity?[PtCl4(NH3),],[PtCl3(NH3)3]CI,
[PtCI(NH3)5]Cl3, [Pt(NH3)gICl,. /

farafaf@a & @ & afFay (FFa) & soaaa fega aresar g2 [Picl;(NH3),],[PtCl3(NH3)31C,
[PtCI(NH3)5]Cl3, [Pt(NH3)6lCl4l

1. [Pt(NH3)¢]Cly
2. [PtCI(NH3)s]Cl;
3. [PtCly(NHs),]

4. [PtCl3(NH3)5]Cl

Correct Answer :-

. [Pt(NH3)6]C|4

8) Which one of the following vitamins contains a metal atom? /
ffaf@a # ¥ #19-3 w Rafds § arg wey sufeda @ar §2
1. Riboflavin / RETFaifaeT

2. Vitamin A / f3eIfAT A

3. Vitamin € / faerfAsT ¢

4. Vitamin By, / TaeifA=1 B,

Correct Answer :-

. Vitamin By, / facIfA=I B,

9) Which of the following is an example of a true solution? /
farmafaf@a & @ sla-a1 avafs faws w1 & 3qmEIr 372
1. Pumice stone / U{Jgﬁ?—“l e} (STaT Te2R)

2. Fruit Jelly / Tell T FTssT

3. Zinc amalgam / TSl 31HeTe (T2 T@iFaHOT)

4. Shoe polish / SIcT qrferer



Correct Answer :-

« Zincamalgam / foi& 37HcTH (T2U FTFEASOT)

10) c-Cl bond of chlorobenzene in comparison to C-Cl bond in methyl chloride is: /

frese FeRIEs # C-Cl ey & gae # FARIST F C-Cl Iaer g ¢
1. Longer and stronger / oar 3R Halqd

2. Longer and weaker / @& 3R #HAIR

3. Shorter and stronger / BT 3iRX HoTed

4. Shorter and weaker / BT 3 FAAR

Correct Answer :-

« Shorter and stronger / ®¥eT 3R HoTed

11) Metal 'M' crystallises in a fcc lattice with an edge length of 5.56A.Calculate the density of the metal if it contains
0.3% Frenkel defect.[Given:molar mass of 'M' 40 g/mol] /

'M' €Tq, 5.56A HY FN TS TN TF THHN (FoF Hfed °el) Arord # Breed aorcdt §1 U F °efed
A o AT I 37H 0.3% Hha QW 1 [T 1797 §: 'M' FT AR FeTAT 4071/ATe]

1.0.77 g cm3
2.0.48¢g cm3
3.155¢ cm3
4.1.00g cm3

Correct Answer :-

12) The water kept in an insulated vessel at -8 °C suddenly freezes, the entropy change of the system: /
-8°C W & fagga-Ofta o & T@1 711 9Tl A S ST §, $6 GOmel! 1 Teerd) gRade:
1. Cannot be predicted / Wlﬁﬁ AgT fopar ST et B

2. Increases / §&dT gl

3.Zero | =T g S B

4, Decreases / €edT gl

Correct Answer :-

. Zero/%]\FJBTa'laTm

13) The size (diameter) of dispersed particles in a colloidal solution is: /
TF Fass [Faaa & aiférea Foit &1 39 () gar &

1. More than 1000 nm / 1000 nm & 37f9



2. Lessthan 1 nm / 1 nm & &
3. Between 1 nm and 100 nm / 1 nm 3iR 100 nm & &=

4. Between 1 nm and 1000 nm / 1 nm 3{R 1000 nm & &=

Correct Answer :-

« Between 1 nm and 1000 nm / 1 nm 3iR 1000 nm & =

14) The organic chloro compound which shows complete stereochemical inversion is: /

FHfas FaR s St gf Reaaaafas F@E@RaE@w) sfads g &
1. CHyC

2. CgHsCl

3. (C,Hs),CHC

4. (CH3)5CCl

Correct Answer :-
. CH5C
15) Hydroxides of group II alkali metals shows: /
g 11 a7 uTgst & gEgieaes g §
1. Decreasing base strength down the group /
AR A AT S 9 Hecdl &7 Jeeldr
2. Increasing base strength down the group /
A A A S 9 Gl &TRep Teloldll
3. Increasing acid strength down the group /
AR A A S 9T Gl 3T Teoldl
4, Increasing and then decreasing acid strength down the group /
AR A A S 9 gl §edr 3R T gedl 3T Teeran
Correct Answer :-

« Increasing base strength down the group /

THE H &M S 9T TGl &TReh Feleldl

16) When a non volatile solute is dissolved in a volatile solvent, the vapour pressure of the solvent is decreased
because:/

J9 TF arqefied A # v samaefia AT avar Sar 8, O Aaae T asy g9 w7 @ Jan §
Fife:

1. Mole fraction of the solvent becomes less than 1. / TdelT=Ie T ATHIATT A 1T FH G AT § |

2. Density of the solution is increased. / fdeI el T Tsica d¢ ST gl

3. Surface tension of the solution is decreased. / faeITeT T g6 ddld &HA gl Srar gl



4. Viscosity of the solution increases. / TdedsT &I QITTAT §¢ ATl g

Correct Answer :-

« Mole fraction of the solvent becomes less than 1. / fJdemaes 1 JATHIT A 1H FH AT § |

17) Alumino thermite process is used for the extraction of metals whose oxides are: /

¥ gAtse wiRar 1 3w argat F fsedor & v frar smar @ e sitess:
1. Fusible / o= g1 &1

2. Strongly basic / 9de &8RPI g &1

3. Not easily reduced by carbon / STeleT =CIRY AT | Fé?lfﬁ;_ﬁ T 8 gl

4. Not easily reduced by hydrogen / HES D] CarT 3T o mﬁaﬁ el g1 gl

Correct Answer :-

« Not easily reduced by carbon / STeeT CART 3TEET & Fﬂ(\?ﬁlﬁ T 81 gl

18) Identify the transition metal which does not have BCC lattice structure in its crystalline state. /
39 WHAT U F T FE @ BreeeT 3w # BCC A @IGaT A gl §

1. Cr

2.V

3.Cu

4. Fe

Correct Answer :-

19) Identify the o bonded organometallic compound. /
o Iafta Fre-tnfeas Fiffrw i ggae fifFw)

1. Wilkinson’s catalyst / Tafeshde 3coRe

2. Ferrocene / SI&TeT

3. Tetraethyl lead / ¢gTufyel o5

4. Metal carbonyl / €T Frafferel

Correct Answer :-

« Tetracthyl lead / ¢gIUfyer o5

20) What is the half life of the isotope whose ¥ disintegration time is 2 hours? /
waefa® #t iy 71 ¢ o v R way 292 @2
1. 1 hour/ 1 ©eT

2.2 hours /2 €€



3.3 hours /3 ©¢
4. 4 hours / 4 G¢

Correct Answer :-

« 1hour/1©er

21) What is the important factor which accounts for Metal-Metal bonding in compounds of the second and third
series of transition metals? /

a¢ AgcaqUl FRF FAT § ST WHACT U1t A @t 3 fwd ywar F At F urg-arg saee Fv
HROT T §?

1. Increase in atomic radius on going down the groups. /
TGl A & Sl W RAY] B 7 g
2. Increase in density of these metals. /
3T UIg3 & °elcd H il
3. Stability of higher oxidation states of these heavier metals. /
goT T UTI3i BT 3T JiTeRientoT IraEAHT T EUIT|
4. Greater enthalpies of atomization of these metals. /
go T3 o IRATIEIOT & H{¥ehdd ardir ariard|
Correct Answer :-

« Greater enthalpies of atomization of these metals. /

ST I3l & TRATIEROT T Jifead arda emRard |

22) What is the energy of the first stationary state of a LiZ" ion if the value of k=2IT?me* h?=2.18x10718J

atom™1? /

Li?* 3maer &Y yuar Ruw sraer 6y 91 #7401 § AR k 1 A= 202me?/ h? =2.18x 10718 J qamop 1 @2
1.+2.42x107 1% Jatom™ / +2.42x1071%J qTJ:I'I'UI_l

2.-0.242x 1018 Jatom™! / -0.242x 10”18 J oy

3.-19.62x107 '8 Jatom™! / -19.62 x107!® J aaATOy !

4.-1.09x 10718 Jatom™! / -1.09 x 10718 J ozTOT ~1

Correct Answer :-

- -19.62x107 18 Jatom™! / -19.62x10718 J TaTO] 1

23) What percentage of space is occupied in a two-dimensional square close packing and hexagonal close packing
respectively? /

wargfA-Red 73 fAfds dFaa Ak weeoi Afds dgea & fraa gfoera wae 7@ &ar &2

1. 52.4% and 60.4% / 52.4% 3iX 60.4%



2. 60.4% and 52.4% / 60.4% 31X 52.4%
3. 74% in each case / 93 T&ATT H 74%
4. 68% and 42% | 68% 3T 42%

Correct Answer :-

« 52.4% and 60.4% / 52.4% 31T 60.4%

24) Butter is a colloidal solution formed when: /

AFEA Th FAET QAo § S a9 a1 § I

1. Fat globules are dispersed in water / I&T INfeIhIT Ieil H IRETAT el gl
2. Fat globules are dispersed in air / IdT MferTT gar & gR&™T gidr gl

3. Water is dispersed in protein / STel Wélel & gR&Iftd grar gl

4. Water is dispersed in fat / STeT a&T & gReIfa grar g1

Correct Answer :-

« Water is dispersed in fat / STel g@T & IR&TAT gIdT ¢l

25) Radium combines with chlorine to form radium chloride. The radioactivity of chloride so formed will: /

IRBIH FRES a9 & AT BIH, Fada & a7 gafeq aar &1 @AfT Rga FaxEs f
wEatFaar geft:

1. Reduce by 1/3"/1/3 d& ge el

2. Remain the same as radium / I3TH & THAT I%?ﬁ
3. No longer be radioactive / Trafsha A8 walr
4. Increase by three times / et T d §6¢ STefT

Correct Answer :-

« Remain the same as radium / I3IJH & AT G

26) Metallic property increases down the group, as a result the J

g # A S gu urfeas a[or Tgar @, SrAd aRemAEawT

1. electropositive character increases down the group / H¥Hg # A S g-(r ﬁa:{lf[ oIS of&ToT SodT gl

2. atomic number increases down the group / HHg H A Sa gU 9XA] TEAT el gl
3. density decreases down the group / HHg H & S §'(f Helcd Tl gl

4. valence electrons remain the same down the group / THg # A= S §'Q' IS sﬁa—‘;ﬁ'?r AT T/ &l

Correct Answer :-

« electropositive character increases down the group / THg G ICRCIG] g'lr ﬁ'dg?—[ eTlcH% of&ToT Sodl gl

27) In group 1 alkali metals, the strongest reducing agent is: /

g 1 4T gt A, §a® Ao ARl FAF



1. Na
2.Li
3.Rb
4.K

Correct Answer :-

« Li

28) Which polymer is used as a substitute for Wool to make blankets? /

Fad T & I & FaeA9AT & T A P qges 1 3G HAT SAer §?
1. Orlon / 3R

2. Nylon 6, 6 / =TIl 6,6

3. Caprolactam / SWToleeH

4. Glyptal / Ferceer

Correct Answer :-

« Orlon / 3Rl

29) Which one of the following Quantum numbers is not obtained from the solution of the Schrodinger’s wave
equation? /

Prafafla # & Sl Fawen e MR wor T & e @ e ad gg b
1. Azimuthal quantum number / UGﬁH\ilTvr FalcH T&ar

2. Spin quantum number / ThUT FalcH T&IT

3. Principal quantum number / ﬂ@m e

4. Magnetic quantum number / W FaeH T&AT

Correct Answer :-

« Spin quantum number / TSHUT FATCH TEAT

30) Which one of the following molecules has intramolecular hydrogen bond? /
farafaf@a & & B v Ho] F HA:HUF g HEY P §?

1. 4- Hydroxybenzoic acid / 4- gTSSIFaIS oI 3Tl

2. 2 — Nitrobenzoic acid / 2 —sTT8¢Isollgeh 3Tl

3. Benzoic acid / Sollgeh 37Fal

4, 2- Chlorobenzoic acid / 2- FARISSISH 3TFeT
Correct Answer :-

« 2 - Nitrobenzoic acid / 2 —ATSCIsolISH 3TFel



31) Which one of the following is an example of acidic flux? /

fafaf@d & ¥ Fi9-91 v 30T yaw (TRRE FaFw) F1 vF eI 82
1. Cl,05 + CaO

2. Cl,04

3. Si0,

4.CO,

Correct Answer :-

« SiO,

32) Which one of the following is NOT a transition metal? /
PrafafRa & & Pt T dwAoT urg w@ 82

1. Cr

2.Cu

3.Cd

4. Ni

Correct Answer :-

« Cd

33) Which one of the following statements is true with regard to denaturation of proteins? /
W F RFdeor & ¥au F Aafaf@a § ¥ sla-ar sya w6
1. Denaturation of proteins is due to rearrangement of primary and tertiary structures of proteins. /

WIET T faehcientor, WET & Fruffeh 3R Jele EEAST & JAcdaedT & HROT gl ¢

2. Denatured protein retains its biological activity. /
fapa 9de el Sifdw afafafer & sew W@ B
3. It results from a rearrangement of the secondary and tertiary structures of proteins. /
Ig WG i gfachas iR glras GTaast f geaedaedr & qRTAEEET g B
4. The chemical composition of the protein is altered by denaturation. /
N i TErfEs G Rgdietor ganT sgo & Sl B
Correct Answer :-

« It results from a rearrangement of the secondary and tertiary structures of proteins. /

Ig N 1 gfachas 3N Jolrgsd GIaesit f gedawdr & aRuTAEEEET giar g

34) Which one of the following radioisotopes is used in treatment of blood cancer? /

Ffef@d & @ #i9- s R gaen@s &1 99 o9 FE F 3R A FAr FEar §2

1. Na-24



2.1-131
3.P-32
4. Co -62

Correct Answer :-

« P-32

35) The heat required to raise the temperature of 1g of a substance by 1 K is known as: /
13T 9T &1 d9A 1 K 931 & fAT 39ed+ FSAT Hgard! §:

1. Specific heat / faferse Fear

2. Enthalpy / tl;Uﬁ' AT (Teded)

3. Thermal capacity / dTdrg aTRdr

4. Latent heat / [t 3SHT

Correct Answer :-

« Specific heat / faferse Fwar

36) The oxide which is not reduced by hydrogen. /

ag JifFargs St FEES GERT TRy AET e &
1.K,0

2.P40qp

3. Fe,04

4. AgrO

Correct Answer :-

. K,0

37) The exact stage at which the neutralization in the acid base titration is just complete is: /

g JUT HIEAT T W 3 e HgAer (s 99 egeae) F serfieisor S qot 8 o &
1. Equivalence point / deddl %g

2. Titration point / 3eJHTqsT ﬁg

3. Inversion point / Ifciell#s=TIeh %g

4. Neutralization point / 3GTHIai1hI 0T ﬁg

Correct Answer :-

+ Equivalence point / JeddT %’5’,

38) The shapes in which a long polypeptide chain of a protein molecule exist are: /

T HHR e N 3] At oF et qieicerss s@ar 39y gid &



1. o — helix, y —pleated sheet / a — gToled, v —Teies ¢fic
2. a — helix, B—pleated sheet / o —gforFa, p—ceolcs ofic
3.y — helix, p—pleated sheet / y—gfelard, p —Telcs efic
4. B—helix, a —pleated sheet / p —gfeldd, o —Telcs ofic

Correct Answer :-

« o - helix, p—pleated sheet / o — gTeled, p—Telcs efT

39) The heat absorbed at constant volume is equal to the: /

fa 3maaT W nRa AT FES W g ¥

1. Change in internal energy of the system / feehrar T 3aRe Feit & gRadT
2. Change in entropy of the system / GEIR R UR:IJ'Cﬁ' & gRaaa

3. Change in enthalpy of the system / et T C[\USI' FoAT (Teded)) & gRada
4. Free energy of the system / ot T HFd Foll

Correct Answer :-

« Change in internal energy of the system / TVt T 3TAR® Foil H IRATA

40) The color of phenolphthalein in base is: /
&R # Reatardelia &1 1 gar &

1. Pink / [eTslt

2. Colorless / TTgIeT

3. Red / ool

4. Orange / ITG3T

Correct Answer :-

41) The mass of copper deposited from a solution of CuSO, by passage of 5 A for 965 seconds is:/

9659%3 & fAT 5A % UG @ & CusO, F Rawsr ¥ RINT T F1 gegw= &

1. 1.5875¢
2. 15.875¢g
3. 96500g

4. 4825¢

Correct Answer :-



A reaction is second order with respect to reactants. How is the rate of reaction affected if the concentration of the
reactant is reduced to half?/

FAFRF & gau # ww AfAFA gfada A1t §1 IR affewres Hr wigar areht Fx & Fe ar sfafEar
X FH yafaa gt 82

1. Decreased by 1/4K / 1/4K d&» ¥ Srdr %’I
2. Decreased by 1/2K / 1/2K @& €€ ST &
3. Increased by 1/4K / 1/4K T §¢ STTdT g
4, Increased by 1/2K / 12K & ¢ SITdT &l

Correct Answer :-

« Decreased by 1/4K / 1/4K d €€ ST &1

43) The IUPAC name of the following compound is /

o giffie srivrac 718 E:

N

1. 1,1,4-trimethylcyclohex-3-ene / 1,1,4-CSfAUTSTASFollgFH-3- é?f
2. 1,4,4-trimethylcyclohex-2-ene / 1,4,4- TSAASAHSFAIGFT-2- SoT
3. 1,4,4-trimethylcyclohex-1-ene / 1,4,4-@3%3@?@@%@-1-%

4. 2,5,5-trimethylcyclohex-2-ene / 2,5,5- agﬁamm%w-z- é?-r

Correct Answer :-

« 1,4,4-trimethylcyclohex-1-ene / 1,4,4-3fRASIASFARFT-1-51

44) The IUPAC name of the given compound is
&&r a2 Aiff® &1 IUPACAH el
CH:0H

I
CH;-CH-CH-CH-CH,-CH,-CH;
I |
CH; CH;Br

1. 3-Bromomethyl-2-isopropylhexan-1-ol. /

3-SAIAUET-2-AsAAS g Fd1-1-31Tel
2. 4-Bromomethyl-3-hydroxymethyl-2-methylpentane. /

4-SANAASA-3- gTEsFAAAA-2- e



3. 4-Bromo-2-isopropyl-3-propylbutan-1-ol. /
4-STAT-2- TSNS A-3- TS TG o - 1-37Tel

4. 4-Hydroxy-2-isopropyl-3-propyl-1-bromobutane. /
4-gTISgerd-2-3SHIIIS o-3-SaTgel- 1 HIsg ST

Correct Answer :-

+ 3-Bromomethyl-2-isopropylhexan-1-ol. /

3-SAfAUET-2- 3SR FHA- 1-3ie

45) Forthereaction A= B, the concentration of a reactant changes from 0.04 Mto 0.03M in 23
minutes.Calculate the average rate in seconds. /

3G A= B & ov, var 3f8sRe & agar 25 &@a9e # 004 ME 0.03M dF
gl oIrdr g1 das & sitaa e fir qown &1

1.6.7x 100 Ms™!
2.8.7x 10°Ms'!
3.7.7x 100 Ms™!
4.9.7x 100 Ms!

Correct Answer :-

¢ 6.7x10°Ms!

46) Match the molecule in column | with the shape givenin column Il

No. | Columnl | No. | Column i

P. ClF= a. | Vshaped.

Q. | XeFs b. | Square pyramidal
R. | 502 c. | Tshaped.

5. | BrFs d. | Square planar.

T 13 3797 & FioH NH U 717 3R & " gafaa e

HEAT. | e | | GEIT. | S|l
P: ClFz a. v TR
Q. XeFs | b. r e
R. S0z C. THFHIT
5. BrFs d. g9t gaEgeRT

1.P-b,Q-c,R-d,S-a
2.P-c,Q-d,R—3,S-b
3.P-d,Q-b,R—a,S-c
4.P-d,Q-¢c,R-b,S-a

Correct Answer :-



e P-c,Q-d,R-3,S-b

47) The solubility product of AgzS is 32 % 10752 at 25 °C.The solubility of silver sulphide in water at
25°Cis: /

Ag2S T TdeRIaT J[UTieh 25°C 9 32X 10751 §125°C W o # el HobISs $I
faerrar g

1 1.8 x107%

5 4x107%8

3, 2x 107

-17
4 8X10

Correct Answer :-

. 2x107Y7

Radius/nm

1 1 1 1 1 i i 1 12

— S5 Ti V Cr Mn Fe Co Ni Cu Zn

. ¥ Zr Nb Mo Tc Ru RhPd Ag Cd 3d
La Hf Ta W Re Os Ir Pt Au Hg

d4d

The graph shows irregular trend in atomic radii of 4d and 5d series. This is due to: /
I, 4d 3R sd AEens’t f1 o] Bt sfFEefha gafca arar & e 59
FROT T £ :
1. Variation in nuclear charge and shielding effect of d and f electrons /
d 3R f Felacial & AfAehrr 3maer 3R aREToT e # aRads
2. Decrease in metallic property /
ticash 0T H ST
3. Increase in atomic number /
ATY] FqEAT 7 g
4. Increase in atomic volume /
WRATY] IATA H gig
Correct Answer :-

« Variation in nuclear charge and shielding effect of d and f electrons /

d 3R f solFelal & ARG 3maer 3R gRTeror yarg & aRada



49) The temperature at which Kz and K- will be equal at equilibrium for the following reaction is:

auaE 59 w B 3@8Fs & v K 3R Ko argeer w K=t g
PCl;(g) - PCl;(g) + Cly(g)
1.12.18K
2.1°C
3. 0K
4,0°C

Correct Answer :-

« 12.18K

50) These trends in the melting point of transition metals is due to: /

THAUT A3 & Mol H I Gdheadl et & HROT g &

M.p./ 10K

Atomic number —

1. Lanthanide contraction / o33 H’Isﬁ?{

2. Variation in the strength of metallic bond / ¢ifcaes 3EY & giadd & gRadsT a1 f3=or
3. Variation in their ionization energies / 3ThT HTAARIOT FAIT & IRadeT a1 fF=ror

4. Variation in atomic radius / 13ITJ:|TUl ear & gRader a1 J=ror

Correct Answer :-

o Variation in the strength of metallic bond / efcaer 3EY & Yfadd & IRader a1 fa=ror

Topic:- Biology

1) BCG is the vaccine for: /
A e & o e el &
1. Leprosy/fb_o" T

2. Polio/ Qferat



3. Measles / @I
4. Tuberculosis / JA&HT

Correct Answer :-

e Tuberculosis / I&HT

2) Which one of the following diseases is caused by allergic reaction? /

fArfaf@a # ¥ sla-a1 v Wervast i gfafrar & FROT @ 82
1. 78/ 8T

2. Influenza / $=FeUzoll

3. Bronchitis / QaEATINY

4, Asthma / ST

Correct Answer :-

o Asthma/ GHAT

3) Which of the following is NOT a feature of cancer cells? /
fArfaf@a # ¥ sla-d@ Fax FRFET ff oF Fdvar a8 2
1. Under the control of oncogenes / 3Tl & faa=or & gidr &1
2. Show contact inhibition / TEIT TeHaT (Hush faNe) fe@rdy &
3. Undergo metastasis / HCTEC@d & '{l_,\_rl'{?fl' gl

4. Divide in excess / 3ifear # Ao gdr 81

Correct Answer :-

« Show contact inhibition / T TEHT (FUH faver) fem@rdr €1

4) Which of the following is originated from the primitive photobionts? /
frifaf@a & @ Fla-ar A BN § Scue g3m 82

1. Primitive prokaryotes / 3TT{¢H Tarhgenm

2. Advanced eukaryotes / Jeelcl {qﬁ?‘@ﬂ? )FhRATE(

3. Mesokaryotes / fAdRAE

4. Primitive eukaryotes / 3fea ghfeash (THRAE)

Correct Answer :-

« Primitive prokaryotes / e wTachgehr

5) Which of the following is INCORRECT about primitive atmosphere? /
fArfaf@a & @ R aramavor § IR & Fia a1 39T 2
1. Free oxygen absent / Tad s 3iTar&stel 3-17:[@21?-[ grar am|



2. Free hydrogen present / T g183IeTel Fﬁa@’ gIdar 2|

3. Cooling resulted in the emission of CO,, water vapour, methane and ammonia /

QW%Wﬁcoz,mm,ﬂaﬂwmmmﬂéﬂgml
4. Low temperature due to cooling / 2ol & SIRUT He dTIHT gIdT AT

Correct Answer :-

« Low temperature due to cooling / 2ol & &RUT He dATIHT AT AT

6) Which of the following does NOT follow the central dogma of molecular biology? /
fafaf@a & ¥ Fia-a1 e AHafee & 7o Regia F1 sgeor 78 Fwar 2
1. Fungi/ ohdeh

2. Bacteria / GﬁGTU;I'

3. Protozoa / SICIG3T

4, HIV/ TT3TSdT

Correct Answer :-

« HIV/ T3S

7) Which germ layer forms the muscles? /
Fia-@ T AW (ST ) IRAT T 82
1. Endoderm / 3id&cadr (U3ISH)

2. Ectoderm / STgdcadT (TaFeisH)

3. Mesoderm / HEISTT TR (FAIZH)

4. Periderm / IRcaesh (WIsH)

Correct Answer :-

« Mesoderm / HEISTT TAX (HASH)

8) The first organism on primitive earth was: /
few gedt @ ggd g &

1. Heterotrophs / 9X9I¥d

2. Autotrophs / TIGIST

3. Chemoautotrophs / TEEIYNT

4. Chemoheterotrophs / ITATIRAI™T

Correct Answer :-

« Chemoheterotrophs / ITEIAI™T

9) Blubber of whales contains connective tissue. /



el @ Tdf F TS Fde dafdse gar B
1. pigmented / guifehd

2. adipose / qargFd

3. mucous / LelSHST

4. reticular / STTeIshT

Correct Answer :-

« adipose / qargFd

10) some enveloped viruses have glycoprotein spikes. What is its purpose? /

Fo Y gu Rt F samemds weE ¥ sE 30w = R

1. Binding with the cell membrane of host / gIEC Fr Fifrehr %ﬁﬁ' & T STEreT
2. For protection / EI&UT & fow

3. To produce anti-enzymes / W—ﬁ'&l‘l’gﬂﬁ' Fr AT FA F AT

4. To attack the host cell / §¥€ T 9T §HAT AT

Correct Answer :-

« Binding with the cell membrane of host / g1&¢ I HIfAFT Breall & AT STYUAT

11) Protein synthesis occurs in: /
AT HeAor AT 7 gar &
1. Golgi body / ol HIT

2. Mitochondria / m

3. Cytoplasm / SITAPIGed

4. Nucleus / =TTf#e

Correct Answer :-

« Cytoplasm / SITAPIGeT

12) Name the vector in ‘break bone' disease. /

9% a1 A1 g3 A’ A A areF 1 A Fa)
1. Aedes mosquito /USIST HTET

2. Tsetse fly / c8cq HeFdET

3.Sand fly / ¥d #FET

4. House ﬂy/EI'lT*(r\ HFFET

Correct Answer :-

« Aedes mosquito /TaleT HTER



13) is involved in allergic and inflammatory reactions. It also dilates capillaries. /
voreft-srat AN o-EEe AR F e @ ¥ 77 FREH F ReaRa s wwa ¥
1. Serotonin / TR
2. Histamine / fg€erf@sr
3. Blood serum / ¥f8R dR#A
4. Lymph / o ETeRT

Correct Answer :-

« Histamine / Tg&eriaeT

14) The first prosimian primates arose from: /
mmmw(mm)ﬁm#mgm
1. Frugivorous monkeys / BelH1&T e

2. Apes / BT

3. Tree shrew like insectivores / IcHal S g&y HAw

4, Arboreal mammals / E(I:&:\’I'J AUy

Correct Answer :-

« Tree shrew like insectivores / Fresrely J@ ?{«‘H HAE

15) Platyrrhini are also known as: /

Afele (Riftearn) & @ea a5 @ it ST sar @
1. New world monkeys / CEY Zj?-RJT F e

2. Apes /HTT

3. Old world monkeys / qXTeiT gfetdT & e

4. Man / AT

Correct Answer :-

« New world monkeys / A5 gﬁ'CIT & §el

16) The most probable reason for the absence of regular menstruation in a fertile female is: /
T goreaare Afger A Aafa il et fr seafufa &1 ge@ deanfaa Fwor @
1. Imbalance in hormone/%‘l?:ﬁ?-r H 3-114'(:[&?

2. Cancer / &

3. It can happen at any time / I8 &#T T & Thdr g

4, Fertilised ovum /ﬁ'@ff%l?f IEC

Correct Answer :-

« Fertilised ovum / fo¥fRa B



17) The most natural method of birth control is: /
wafa-faee (3 Fgw) 6 9w aFlas (i &
1. Hormone method / gMAfT f3fer

2. Rhythm method / o faf&r

3. Barrier method / f&er fafer

4, Abstinence / TIHq

Correct Answer :-

e Abstinence / TIq

18) Name the tough collagenous, fibrous, outer layer of the brain, inserted in the periosteum of cranium. /
m(m)ﬁm(m)ﬁmﬂ?mm,hm,mﬁmﬁmﬂm
gdm|

1. Greymater / I

2. Duramater / SIATCI (GGl TotenT)

3. Arachnoid / RFAISS (eIdTSTTeITsT)

4. Piamater / UTSITHET (Fgeniaieh)

Correct Answer :-

« Duramater/ Wﬁ(ﬁtﬁrﬁaﬂ)

19) Which of the following organs have the power of regeneration? /
Prtft@e & & Reer 303t 3 qerterT @) i gieh 2

1. Kidney/ajFa?

2. Liver / ghd

3. Lungs / T

4, Brain / ATEdSH

Correct Answer :-

 Liver/ Tpd

20) Which of the following is the most important advantage of a Sacred groove? /

fmfaf@a & @ Fi9-w1 ve 9T 3va (@3 Ma) FT Te@ AFAOr AT 72

1. It holds water in soil. / Ig AT & urelr 1 gepg T@Ar gl

2. It improves soil quality. / I8 THET &I IO edr I URAr gl

3. It conserves rare and threatened species. / Jg gﬁﬁ IR %anﬁa’r P T&T T %’I

4. It gives environment awareness. / g TITGOT ARGl ST gl



Correct Answer :-

« It conserves rare and threatened species. / Jdg gﬁﬂ 3 %anﬁu’r Fr TAT Far %’I

21) Which of the following shows the correct order of the layers that cover kidney from outside to inside? /
frafaf@a & & Fla-a1 wat F1 @ F7 AT §, S IFF F AR @ AR dF SHA §2
1. Renal capsule, adipose layer, renal fascia / &h m‘\?{ a8l Wd, g FTCIE'

2. Adipose layer, renal fascia, renal capsule / 98T 9d, g H"CIE', gqoh W

3. Adipose layer renal capsule, renal fascia / 9T 9d, EEED El‘o%lc\oi, g Tug
4. Renal fascia, adipose layer, renal capsule/aja? QTCIE' ddT 9d, E‘[W Q?Q:lc\?—l'

Correct Answer :-

« Renal fascia, adipose layer, renal capsule/atﬁ H'trg, ddT 9d, qw é:cag-r

22) Which of the following features is CORRECT about platelet? /
frafaf@a & & Fla-a1r waor Rawp () & W F w7
1. Mulﬁnucleated/w (ﬂ?a?{?(*ﬁ'ﬂ—a'g)

2. They are Lobed nucleated / 3 sg FSIEI@'U‘E_E{ g &l

3. Binucleated / Gfdehgeh! (JT$ geFelluCs)

4. Non-nucleated / 3TShgehl (siTeT Fq\Tﬁ?l'@‘s’)

Correct Answer :-

« Non-nucleated / 3Thgehr (siTeT Fq‘fﬁﬂ'ﬂé_s')

23) What are local hormones? /

T () gl a1 a1 &2

1. They are secreted by exocrine glands. / & afg:@maT IfIAT garT aifad gla g1
2. They are secreted by the cells. / & ahITRAHIT CanT Fifad & gl

3. They are secreted by endocrine glands. /& 3{dT:g1dr IR CCIRY aifad g g4
4. They are secreted by intestine. / 3 377d garT @1fad gid g1

Correct Answer :-

« They are secreted by the cells. /@ HIfARI3T aRT FAT & 8|

24) What are’ molecular scissors’ in genetic engineering? /

el Fffifady & 'anflas & ar aAtdfTger e w1 &2
1. Restriction enzymes/ et Teatise

2. Vector DNA/aT*ET AT

3. Passenger DNA/ 38R SitaTw



4. DNA probes/ 30T HYLIeTh AT 3UAT AT

Correct Answer :-

« Restriction enzymes/QﬁE"?JFI' UoecllsH

25) Some persons may no longer respond to drugs. A higher dose is needed to acquire the same effect. This
condition is termed as: /

6 afdd a3t W yfafar a1 a5 # 3Q ¥ WA T yed WA F fAv F 37w gus fi
HTIRIHAT Bt &1 30 U F FHgr AT §:

1. Withdrawal / 9fdR (faegten)
2. Tolerance / Gger2fieldar

3. Rebound effect / Ra138 919
4. Resistance / 9TaIer

Correct Answer :-

« Tolerance / GgaTfeldT

26) The main organ that gets affected due to alcoholism is liver because of: /
HEIUT F FROT YA @ aTell JET 31 IFd 8, TFwHr FRor ¢
1. Interferes with detoxification / fJawgoT (f?,ﬁaaﬂﬁr-}vam) & YT gEdeT
2. Excess bile pigment / 31faRed Rea avfe

3. Fat accumulation / @&T T I

4. Glycogen storage / TelTgehlolel HSROT

Correct Answer :-

« Fat accumulation / G&T &T IIF

27) Jerking of knee when hit below knee cap is an example of: /

gea 1 F7 (@A Fo) F AR § @FU I W geor # A3 AFw F1 v @07 8
1. Conditioned reflex / 34?135%?-[ gfaad

2. Simple reflex / T Ufadd

3. Natural sensaﬁon/m HdgaT

4. Acquired reflex / 3uTford Ifdadr

Correct Answer :-

« Simple reflex / ¥ 9fdad

28) As a person ages, which of the following tissues becomes less permeable, rigid and insoluble? /

I wF afFT q@ dar &, AR # ¥ Fla-w1 FaF FA e, T T AR¥ET a9 Far

1. Reticular tissue / STl Fdeh



2. Collagen / CICE G
3. Yellow elastic tissue / 9TelT YcITET Fdsh
4. Globulin / TGl

Correct Answer :-

« Collagen / Slolslel

29) Deficiency of Vitamin K reduces the concentration of in the liver of man /
Refde K $t F8i AT & THaT A A Aegdl A FA FIA L

1. ascorbic acid / TEhiTaeh 3Fel

2. acetylcholine / TEETThITored

3. prothrombin / TN f&EssT

4. ATP / TETGY

Correct Answer :-

« prothrombin / S fFee

30) Alternate name for STDs is: /
AN FT dwfeusd A

1. Bacterial disease / SfiaTfoqen IraT
2. Viral disease / ﬁ'qTUlTﬂﬁT-f 9T

3. Contagious disease / Jrgfaler TIT
4. Venereal disease / Ifdst TT

Correct Answer :-

« Venereal disease / IfasT JeT

31) Alzheimer's disease is associated with which neurotransmitter? /
IeagAY & N1 fFe gAY (qcfe 9fm) @ wafta 372
1. Glutamate / ?ﬂ@ﬁ?

2. Acetylcholine / TECTSoIHIToreT

3. Norepinephrine / siRUTRSAA

4, Seratonin / ERIEIfeleT

Correct Answer :-

« Acetylcholine / YHCTSohI ol

32) There are 12 pairs of ribs in man, of which are false ribs. /

AT # 12 gufeat gl § St @ oY qaferat g &



1.2
2.3
3.4

4.5

Correct Answer :-

33) Persons who have O blood group can receive blood only from O group. Give reason. /

e cafeaat &1 $fR a9t 0 AT §, 3 Faar o T ¥ & T wIvw F FFS §1 FROT qAEA
1. They are universal donors. /3 araafas GIdr @T‘T %I

2. They have both A and B antibodies. / 33 A 3iR B ar gfaved (ﬁaaTé’r) g gl

3. They have both A and B antigens. / 378 A 3R BalaT wfdsteT (Terst) g1 gl

4. They have no antibodies. / 3s78 1S 9faRel (TEETa) F8T g1l

Correct Answer :-

« They have both A and B antibodies. / 3781 A 3R BglaT ufarel (Tera)) g &

34) The shortest duration of muscle contraction is exhibited by: /

R TFE A T S A B F ga el A o ¥
1. intestine / 37T

2. Heart / ¢

3. tongue / ST

4. eyelids /qﬂﬁ?

Correct Answer :-

« eyelids /qﬂﬁ?

35) Blood components are prepared in blood transfusion centres. Which of the following is NOT such a product? /
T I ) F d F geF HR Fr A § AEff@a & § Fa-ar @ 3cug a8

1. Red cells / SITeT SHITARTT

2. Platelets / 'I:E'EHUI (Telceicd)

3. Plasma / Ygcd (TolloHT)

4. White cells / T%he SITAHTT

Correct Answer :-

« White cells / G%he HITAHIT

36) Pathogenicity of can be suppressed using interferon. /

F NaTSTeThdT, SEIHITT HT IYIRT FI ga1$ AT Fehal 2l



1. virus / ﬁ'qTU;I'

2. fungi/ hdeh

3. protozoa / FTETSIT3T
4. bacteria / GﬁEITUI

Correct Answer :-

 virus / faGH'UI

37) As one ages, the immunity of our body decreases because of: /

N3 37 qdt §, TR R A Wr yfeRiuF a7HaT (FFEAE) AT F FROT gedt ar
1. Waste accumulation / 39fASe gIIA

2. Thymus degeneration / UTSHH 3. Tdod

3. Weak body organs / eRR & &HASIR 3T

4. Improper endocrine / Hﬂﬁﬁ 37 |rdr

Correct Answer :-

o Thymus degeneration / ATSHH 3. Ydod

38) The actual site of attachment of spindle to chromosome during the cell division is: /
R RFerrerer & Shrer s A qogT § Favaar FT Ivafas T §am ¢
1. Tip of chromosome / IO Fr feg

2. Kinetochore /W%ﬁaﬁlfl?

3. Secondary constriction 1 /aﬁ?-ﬁ?lﬂ? WFT 1

4, Secondary construction 2/aj%|?h'aa: ehroTeT 2

Correct Answer :-

« Kinetochore / FIEaCIhR

39) The formation of blood cells in bone marrow is called ./
3Ty Asonm # @ FNNFBT & Mo F _____ FFT AW &

1. Haemopoiesis/mﬂm

2. Leukopoiesis / m

3. Thrombocytopoiesis / YIS AT
4. Erythropoiesis / TRYGCAH

Correct Answer :-

« Haemopoiesis / %?ﬂ'cﬂ'ﬂﬁ'{:r

40) A pair of the same chromosome, one belonging to the maternal and the other to the paternal is termed as: /



AT UG FT TF oA fwed v A1q § 3R quw R § deftaaar ¥ e Fgam @
1. Heterozygous chromosomes / fawgmsﬁ W

2. Sister chromatids / Hg 31“:‘.5?::[

3. Non-sister chromatids / 3T9g Hﬁﬂ(}f (ATA-TEeT FIFCTSS)

4. Homologous chromosomes / Hardar g W

Correct Answer :-

« Homologous chromosomes / TSI IO

41) Erythrocytopaenia leads to: /

RyEEeNAAr F sRor fAw T aar &

1. Outnumbered RBC / 3RS &1 318 TEar

2. Decrease in RBC and Hb / 3TRERAT 3R Hb & &aY

3. Defective RBC/E\WH\UST RS

4. Improper maturation of RBC / 3TR&IAT &I 39aTea gRueradr

Correct Answer :-

« Decrease in RBC and Hb / 3TIRERAT 3R Hb & &Y

42) Homologous chromosomes are undergoing synapsis. Which of the following chromosomal mutations is likely to
happen at this state? /

AT IUIET TALFAT @ o} @ 81 39 aewr # mafof@a # @ e aongh scaiads & @ #
T 82

1. Deletion and inversion / ECIEGRCREEIEE]
2. Deletion and duplication / Tdellus T HﬂﬁfﬁWUT

3. Duplication and translocation / a@ﬁﬁww Td TATATR

4. Translocation and inversion / TATATR T faenaa

Correct Answer :-

« Deletion and duplication / Taeligel Tg aaﬁﬁw

43) The collective name for LH and FSH is: /
LH 3R FsHF T aEqfes o &

1. Vasopressin / 39981

2. Gonadotropin /?ﬂﬁ?@ﬁﬂ'

3. Enterogastrone / Tec I IeT

4. Somatotropin / H’D’-\E’@ﬁﬂ'

Correct Answer :-

« Gonadotropin /3 s '§I U]



44) In Biotechnology, is used to induce root tumours in plants. /

Sha-vleafdr #, FTyrr qlal & A el F WRa F@ F v G srar 2
1. None of these / o7& & El*ﬁé' aTer

2. Agro bacteriumbasilis | T JFIRTHI I GoreT

3. Agro bacteriumrhizogenes | Tl SFEIRTFNTZSA AT
4, Agro bacteriumtumefaciens | Tl Wm

Correct Answer :-

« Agro bacteriumtumefaciens | Tl §FEIRITHCIH BT
<A

45) Name the gene which synthesizes a repressor protein in an Operon. /

AT FT A qTa=T I TF INNT 7 TF HAFAT NET FT WANT F@T B
1. Operator gene / TdTeleh Silel

2. Structural gene / TXTITcHSD Silel

3. Regulator gene / @ Sfiet

4. Promoter gene / a9 SiieT

Correct Answer :-

« Regulator gene / Ta#HE et

46) As per Mendelian monohybrid cross, when a Garden Pea with axial flower is crossed with terminal flower, it
produces always axial flowers due to: /

AufAIe & AAEENE T F HTAR, I« NefT G ad FMT F 7R F1 37T (AT g F Ay
WHIOT T 1T B, A aF g &N TaAl FT Ieurest FaT §1 WA AT F FROT g &

1. dominant trait / FHTAT oI&T0T
2. blending trait / ATFFAOT oI&T0T
3. recessive trait / 3Tdel ol&T0T
4. incomplete trait / 3-TCI;U‘f ol&ToT

Correct Answer :-

« dominant trait / F3TAT SI&T0T

47) Restriction enzymes are obtained from which of the following organisms? /
yfaes teasa Arafaf@a & & B sfig & e g &

1. Fungi / shdeh

2. Plasmids / Cellf&AS

3. Bacteriophage / SiIaTO[3fIsit

4. Bacteria / SﬁETU;I'



Correct Answer :-

« Bacteria / GﬁEITU;I'

48) Nomenclature of enzymes is done on the basis of: /

TATsAT 1 AAYGTA AFAfaf@d & WUR 9T i JIet §

1. The cofactors they are associated with / & TghRP a8 I TG 8l &

2. The end products formed / AT 3ifasr 3curg

3. The type of reactions they catalyse / for Seh¥ &1 HTATHATIT T I 3UNT = &
4. The substrate on which they act/ dg TR o9 W o T A &

Correct Answer :-

« The type of reactions they catalyse / o/ IR & HATRTHRABT F 7 3ORT Fa &

49) What are replacing bones? /

gfaeardt rfeeram Far gt §2

1. Bones formed by the ossification of cartilage. / 39T & 37EAHI0T CaRT Affa s |
2. Bones formed by the ossification of tendons. / a1 & 3ENEHIOT T T T2

3. Bones formed by the ossification of connective tissue strip. / T3S Fdedh TgT & FEAHIUT GanrT ei1 AT
|

4. Bones which are formed in the visceral organs. / TEUIT ST TP 379 & SAar %I

Correct Answer :-

« Bones formed by the ossification of cartilage. / 3UTREY & 3FMEOT garT AT YT |

50) Extrachromosomal DNA seen in certain bacteria are termed as: /

TS Siar] # 3@ I are HfalFa FeaE (TFHEAaETe) STAT F FET AT 8
1. Phage DNA / faeish Sroaiw

2. Plasmids / oA

3. Plasmodesmata / Gﬂﬁ?\a’lﬂg

4. Cosmids / HITTHS

Correct Answer :-

« Plasmids / TATTEHAS

51) Potassium metabisulphite is generally preferred over sodium metabisulphite as food preservative because: /

MRRTA ATEETEREE F FAGI: ARPIA ATEETPEe ¥ IS e WeTF & T & g6 Far
STar &, F4ifE:

1. It prevents growth of microorganism. / IUE FEHSNE o fdehrd &l Aehell Bl

2. It preserves the natural colour and flavor of food. / ITg HISleT & chgji?lqw T 3R T@Ig FF WaR @ gl



3. It does not contribute sodium to the diet. / Ig 3MER & JIZIH FT AT TSI T &l
4, It gives out sulphur dioxide. / I8 oW SS3TFATSS T &

Correct Answer :-

« It does not contribute sodium to the diet. / ITE 3TeR H WIZIH T AT 6T FAT &

52) On squeezing an orange seed, many embryos of different size and shape is seen! This can be attributed to: /

F ¥R F i F FEEa w), Bffe A 3R sreR & w5 9or &’ I 81 s6d v AT @t
el AT ST §:

1. Polyembryony / Sgef0TAT (qreNufEsaie)
2. Embryo cloning / 30T Follfalar

3. Apomixes / TSIl (VAIfAFEH)

4, Multiple fertilization / Sg IGAEGH

Correct Answer :-

» Polyembryony / Sg8IoTcT (qreTafFsiet)

53) Cellulosic cell wall is absent in: /

e T B saat arepfeua a ¥
1. Pinus / 91S1d

2. Spirogyra / TSRS

3. None of these / 319 ¥ HIg =Tgl

4. Mucor / FHY

Correct Answer :-

e Mucor / Fh

54) Which among the following are sensitive to pollution, and are termed as pollution indicators? /
farafaf@a & & i ygquor & ufy wagaehr €, 3R e wquor wdhasw &1 A Rar w32
1. Fungi / shdeh

2. Algae / faTer

3. All of these / 3ugerd &l

4, Lichens / WITSchel

Correct Answer :-

« Lichens / @TSchel

55) Which among the following was NOT a criteria used by Whittaker for the five kingdom classification? /
farafaf@a & @ sla-a1 9w e Feftetor & v Reear q@rr 3wl T Aeds A A



1. Mode of nutrition / 9ryor fafer

2. Nature of habitat / 3T/aT® &I 9@%

3. Cell structure / IfRART FIIAT

4, Phylogenetic relationships / ET%HLFWT Heer

Correct Answer :-

« Nature of habitat / 37Tar® $r Flfﬁ-f

56) Which of the following is a diploid cell in a mature embryo sac? /
e # @ st o oRuw g B § R FRE 32
1. Antipodal / Yfdearaid ( )Téase

2. Secondary / i (VehHsT)

3. Central / hgeh (Hgel)

4. Synergid / Tg I (Bifog)

Correct Answer :-

« Central / Fgeh (Hgel)

57) Which of the following processes is NOT directly related with detritus food chain? /
frmafaf@a & & -t afrar A9 srme weT sEer § wafta @ @

1. Leaching / fa¥eTTerer (eliferan)

2. Catabolism / 391

3. Photosynthesis / JehTeT TeITOT

4. Fragmentation / Ta1del

Correct Answer :-

« Photosynthesis / T&TT TLTOT

58) Which of the following is the correct sequence in xerarch? /

frfaf@a # @ sla-ar waeh # af e &

1. Algae, lichen , moss, ferns and higher plants / aTel, egehat, A, Bl 3R 3TT dIgd
2. Lichen, algae, moss, ferns and higher plants / eTgdheT, darer, AN, ®eT 3R 3TT Ulew
3. Lichen , moss, algae , ferns and higher plants / SlTSeheT, A, AdTel, e, 3TT IIGT

4. Lichen, moss, ferns and higher plants / F—I'IEW, :m”ﬂ, Fel 3T 3T dreq

Correct Answer :-

« Lichen, moss, ferns and higher plants / SlTScheT, A, BT 3R 3= greT

59) Which of the following arrangement of microspore in microsporogenesis is the CORRECT pair? /



frrafaf@a & ¥ agdevess & agdeny & Fia-@ e ad ga
1. T shaped = Aristolochia / T TR = URECTAITh3T

2. Decussate = Magnolia / SI&d= H3aferar

3. All of these / 39gercT Tefr

4. Linear = Asclepias / &= T&Faluad

Correct Answer :-

« Allof these / 39gerd @8l

60) Which of the following wall layers of anther shows binucleate cells? /

Frafafla & @ WY # Fa-d BT W SR (T SR R §2
1. Epidermis / 3if&rasT

2. Tapetum / cHieH

3. Endothecium / 3iqefifazsT

4. Middle layers / s &I Wl

Correct Answer :-

« Tapetum / ¢HIcH

61) Which of the following is an INCORRECT harmful activity of Cyanobacteria? /
Afaf@d & @ Fla-@Y TR i 3T FRFERE afafafer &2

1. Some cyanobacteria grow on buildings and historical monuments in rainy season, which cause discoloration and
severe damage. /

$O ASASFIRTT a1 & H ARG Ud UMAgIAh TARHT R geivd ¢, fSad Afereiiemior va asfiw
afer g &1

2. Some cyanobacteria like Anabaena release toxins in the surrounding water, which is harmful to fishes. /

$O ASANFIRITT S o VAT 3= A & relt # fawrere geredf o fdera a=a & s #ofadt
F T gifeRE g Bl

3. Some cyanobacteria cause damage by growing on textiles, cordage and tents. /
T AFASFIRAT TET, STETol T T <€ W IeATeh Tohdllsl Tgad &
4. Lyngbya, genus of cyanobacteria, may cause some gastrointestinal problem when consumed. /

Yool el W ToIedT, ARAEFIRAT & Sl & STt Hath FAear a7 X Fohd &

Correct Answer :-

« Lyngbya, genus of cyanobacteria, may cause some gastrointestinal problem when consumed. /

Yool el W Foredn, ARANFARAT & SNl & ot Hath A a7 X Fohe &

62) Which of the following is NOT a household preservation technique? /

PrafafRa & ¥ Pl oo S a8 ¥



1. Dehydration / fasTelieoT (T3gTE32rT)

2. Lyophilisatio / G I@NTeT (fgH [sehed)

3. Salting / TP FATAT

4. Sun-drying / Y9 " gyt

Correct Answer :-

« Lyophilisatio / §d IPMaeT (RHA e

63) Which of the following is NOT a cofactor? /
fafaf@a & & #la w weFrs (Fihaew) a8
1. Metal ions / 8T 31T

2. Apoenzyme / TOIUSIISH

3. Prosthetic group / Ef:ﬁ?:r g

4. Co-enzyme / HE-USTSH

Correct Answer :-

« Apoenzyme / TAIUSTSH

64) Which of the following organisms lacks a cell wall? /

fAmfaf@a & ¥ Fla-ar sha FIfve &fca Wa aar &2
1. Mycoplasmas / HIShICITSHT

2. Archaebacteria / 3¢ EﬂETU;I' GUEEEDIER))

3. Eubacteria / ﬂGﬂHTUI (qje\a*aﬁm)

4. Cyanobacteria / mGﬁaTUI

Correct Answer :-

« Mycoplasmas / HISHICATSHT

65) Which one of the following is NOT a feature of a prokaryote? /
fArafaf@a 7 ¥ sla-@ & yades (NHFRA) A fAQdwar 78 82
1. None of these / T8 & IS =TgT

2. Absence of well-defined organelles / gEgee 37TRT T W

3. Absence of a well-defined nucleus / EI Hgdh ol ﬁmﬁ

4, Absence of cell wall / @I fAfca &r Hm

Correct Answer :-

« Absence of cell wall / @faT fAfca $Hr Hﬂqﬁﬂﬁ



Which one of the following sets of codons does NOT code for any amino acid, hence they function as stop codons?
/

frfaf@d & @ Fl9-91 F=a A, FH ot oA 3 & QAT F3 T Fa1 &, 9T 3 w9 FET F
T H &1F +a

1. UAC UAU UGG
2. UGU UGA UGG
3. UAA UAG UGA
4, UAA UAC UAU

Correct Answer :-

- UAAUAG UGA

67) Which one of the following characters is related to Replication and NOT to transcription? /
farafaf@a & & Fla-ar v aaror gfagfa § dafta afra wfadas & @2

1. Catalyzed by RNA polymerase enzymes / 3TRUTT UifoleRy TSITSHI GEINY 3ARA g gl

2. Occurs in the G1 and G2 phases of the cell cycle /
HIFAHRT Th AT Gl 3R G2 WEEAH 3ot BT 8l
3. Products remain within the nucleus / 3c9T¢ g & 13@' %I
4. Takes place along one strand of DNA. / 3ITsIU & Teh QTEI)T»T (¥¢3) # g gl

Correct Answer :-

« Products remain within the nucleus / 3¢9 g H 163 %Y'I

68) Which one of the following objections of Mendel’s theory of inheritance was totally new and unaccepted by
many Biologists of his time? /

frfaf@a # @ dAvsa & Fumrfa & g #1 Fi9-91 v 3187 g R F 41 3R 37F AT F FE
shafaamfaal ganT e ar?

1. Mathematical approach / IIfOTcT gfSeahior

2. Physiological approach / FRIPT a1 RR-foharcas TiecHhIoT
3. Biological approach / Sifdes gfSeahIoT

4. Geographical approach / FlalTere gfSeahror

Correct Answer :-

« Mathematical approach / IO ST

69) Increasing the concentration of accumulated pollutant along food chain is known as: /
ey AEdl # G YquE A 9o Figar Fgerd 8

1. Bioaccumulation / STa@TI=T

2. Bioremediation / SfaTqeRoT

3. Biomagnification /@H 3rae



4. Eutrophication / W

Correct Answer :-

» Biomagnification /3\3’ 3aY

70) Photophosphorylation starting with PSII is referred as non-cyclic because: /
PSIHE F @ AT BITBREBIIANT (THRI-BIEPIReAT) FT AT Fgl AT ¢, FA b
1. Stroma lamellae membranes lack PSII. / Q—?j?:lT THeAT @'%Fﬁ PSII Tfea g gl
2. It involves both PSI and PSII. /
sgH PSI 3R PSII gt enfder gl &1
3. The electrons released by PSII are accepted back by PSII. /
PSI A T3 goieFgial PSIIEaRT a9y TR R e s gl
4. The electrons released by PSII are accepted by PSI. /
PSI & e gelerglel PSIGERT TR fohdl STt &

Correct Answer :-

« The electrons released by PSII are accepted by PSI. /
PSII & T elorelel PSIGanT TR vy ST &

71) Water is a medium for the transport of male gametes in plants for fertilization, EXCEPT for: /
fdeer & fv gl & v goorwl & IRaea ¥ o« vw AewH ¥ REd gas

1. Pinus / 9S8

2. Spirogyra / TITSIIIMET

3. None of these / ST & HIg TgT

4. Selaginella / TolTSTeiel

Correct Answer :-

 Pinus / 9S4
72) The technique of growing plants in a nutrient solution is called .
WYF deal & T # i F IS A aweE F: FgT ST 8l

1. Hydroponics / REERUGER
2. Mineral culture / @fasT Taee

3. Nutroponics / @Tﬂﬁw
4, Water plant culture / FT ey HaYe

Correct Answer :-

« Hydroponics / gT8gIaliaierd



73) The filamentous green, algal-like juvenile gametophyte of Funaria is called .

FARTT & dqa & (Reemiew afier), dare-aamer fraR grafae (erwse) =t FgT SATaT gl
1. Prothallus / Sr&erd

2. Protogyny / STeISteir

3. Protonema / STCIAHT

4. Protozoa / WTCISI3T

Correct Answer :-

« Protonema / WEIAT

74) The part/s of the diseased plant which will be taken to obtain a virus free plant by tissue culture technique is:
/

Wrarea 9 1 98 Rewr st B 3as dade awadie qarr Ry gaa dur yroa & & v e
ST

1. Palisade parenchyma / @ Hadh

2. Both apical and axillary meristems / MY 3R wef faersaas =t
3. Apical meristem only / Fael Y fasrsaias

4, Protoplast / AETCEE

Correct Answer :-

« Both apical and axillary meristems / MY 3R wef fasrsaas =t

75) The term ‘virus’ means venom was coined by: /

‘FRRE Usg F1 7Y AT §; O/ o9& qamr afawfea frar arm am
1. M.W. Beijerinck / TH. Sscd, CESIEE

2. D.J. Ivanowsky / 3I. SI. SaTeeehl

3. Louis Pasteur / Fj)é 9rER

4. WM. Stanley / Sse. TH. TeAH

Correct Answer :-

 Louis Pasteur / @é &l

76) The disc-shaped structures seen on either side of primary constriction in a chromatid is: /
IR & yrafAs whola F Al X qE T arel B & R A wwEa g
1. Kinetochore / @IgaicIhlk

2. Centrosome / d_ehehlT

3. Centromere / ijﬁg
4. Centriole / dehehg

Correct Answer :-



« Kinetochore / FISACIHIR

77) The type of plant breeding in which several pure lines are mixed to develop the heterozygous variety with
genetic variations is known as: /

9 @ Feal F yER Swd el Berant & i Ryeagrast fFer fefia &3 F [ 555 49
dusA AT e o § a8 Feard &

1. Pure line selection / (€ dAhHA aROT (TAR elgeT Helerled)

2. Mass selection / Tgfd aoT (AT Telerre)
3. Bulk method / desh fafer

4, Pedigree method / gemaelr Al (Jsaft fafey)
Correct Answer :-

« Mass selection / Hgfd aX0T (ATH Helareld)

78) The second trophic level in a lake is: /
o it # afada difewar T ¥

1. Phytoplanktons / 9T¢H Teldeh

2. Benthic forms / faderey &9

3. Fish / #ASell

4. Zooplanktons / YTfOICeIdeh

Correct Answer :-

« Zooplanktons / 9TfoTcerdeh

79) The universally applicable law of inheritance is: /
qATTFA FT WAT 9] AT &

1. Law of segregation / fagatstel & faas

2. Law of dominance / HTIAdT T @a#

3. Law of incomplete dominance / 3-1'3:0‘[ gaTfadr &1 e
4. Law of independent assortment / Taci ¥ Aqcggel 1 GRE

Correct Answer :-

« Law of segregation / Ta@aISIA &7 A&

80) The rate of formation of organic matter by consumers is: /
USRS qaT FrfE gart & frwr A ¥

1. Secondary productivity / E{ﬁ?—ﬁw 3cqrcehdr

2. Net primary productivity / € grafAe Icargahdr

3. Primary productivity / 9TIfRe& 3cargerdr



4. Gross primary productivity / Jehel UTAfH® Scdrgehdr

Correct Answer :-

« Secondary productivity / &I 3caTgehdl

81) The presence of a specific mutation that is responsible for causing a particular genetic disease before the
actual onset of the disease can be detected by: /

s faflrse scafader #1 sufPufa ot fied A aafds geara & 9w e ARy el fam dar
A & AT seaerh &

1. ELISA / SUS3SUHT

2.PCR / 9EIAR

3. DNA fingerprinting / 3T0aAT fhaRffeaT
4. VDRL Test / dEI3IRT qI670T

Correct Answer :-

« PCR / 9rEI3R

82) The dicot plant that has residual endosperm in its seed is: /

T & dfie 7 srafiee gurdly gaa gfadsh Ry (SF@ie we)
1. Pea / A

2. Groundnut / H\Tl'qﬁh'

3. Castor / 3Rar

4, Pepper | @Toll fATr

Correct Answer :-

« Castor / 3@

83) The cyclic zero waste procedure where waste products from one process are cycled in as nutrients for other
processes is known as: /

TP T aafise A e o ufvar @ e safise seumEl )t ser ikt § e dvew aeat
& w7 & afea A o ¥

1. Organic farming / Sifde Wlr
2. Integrated waste treatment / U@I% 39fAse 3UAR
3. Integrated organic farming / Tehlehel Sifdeh el

4. Soil management / #eT JatreT

Correct Answer :-

« Integrated organic farming / Tehlehel Sifdeh @elr

84) The oogonia start dividing during foetal life and their division is arrested in: /



Fanfaar sor haawra F i Reanfaa @ 4 #3 &ar ¢ 3k 309 Remee #t e & sgeg =
foram e 2:

1. Metaphase I of meiosis / Hﬁﬂ:ﬁUT $r HAEIIGEAT I
2. Metaphase of mitosis / EHAUT Fr FEITIEAT

3. Prophase I of meiosis / mﬁaqgw $r q'\ESIT:RZQJITI

4. Prophase of mitosis / HIICT $r tl(\ﬁ‘lﬁ'\':?ﬂ

Correct Answer :-

« Prophase I of meiosis / Hﬁﬂ::l‘UT & qc\TZﬁT:I?ﬂT I

85) The site of ATP synthesis in mitochondria is: /

HASTONHT (ATSCISIesand TAH HAYOT i WFE (¥FU) &

1. Inner membrane of mitochondria / H\ﬁﬁlﬂ (angaaw“r%m) Fr T Brealr
2. Cristae / foh¥C (37cT:hcah)

3. Oxysome / e

4, Matrix / 3memar (Hfeaa)

Correct Answer :-

« Oxysome / JFdaE

86) The algal component of lichens is termed as: /
dEdT & 9T gTF F FgT AT &

1. Symbiont / Hgaidr

2. Mycobiont / HARTL

3. None of these / S8 & HIS TeT
4. Phycobiont / dTelrer

Correct Answer :-
« Phycobiont / aTelrer

87) The extractof s used to cure malaria. /

FART R SF A F AT F 3F &1 3990 A Fmar g
1. Mint / f&T

2. Cinchona / IGGEIGI

3. Cannabis / =il

4. Atropa belladonna / TEIGT SelSI-AT

Correct Answer :-

« Cinchona / F&aTeRl=T



88) The mass of living material at each trophic level at a particular time is known as: /
et AT g7 W 9@+ It TR W ARG gerd F gegArer Fr wer e 8
1. Standing crop / @3l HHA

2. Standing state / TIRY &Y

3. Food web / 3TTgX SITel

4. Food chain / 3TgX ’{@Tﬂ

Correct Answer :-

« Standing crop / @3l wdcl

89) A cell shrinks when it is placed in a/an solution. /
T PR R i W@ o W R e §

1. hypotonic / 3TETITHRY

2. acidic / 3FelI T

3. hypertonic / 3TTTIRTARY

4. isotonic / THUTHRT

Correct Answer :-

« hypertonic / ITTARIEARY

90) The organelles that do not form the endomembrane system are: /

T 3R A AHea:Breel a7 (VERFT R[red) a8 a9 &

1. Mitochondria /

SO (HTSCIHlT5aT)
2. Vacuole /
IREGED

3. Rough Endoplasmic reticulum /
YT JHecisedl SiTforehr

4. Golgi apparatus /
dMeoll 3T

Correct Answer :-

« Mitochondria /

HAHTOTERT (FTSIHIT-5T)

91) RNA is synthesized in which of the following organelles? /
IRTAT F @ & & BFFa s F weala R amar &
1. Cytoplasm / ST geTx

2. Mitochondria / H\':H"Tfalﬂ (FTSCIHI =)



3. Nucleus / shgeh
4. Nucleolus / ShiganT

Correct Answer :-

« Nucleolus / shigant

92) Neutral solute move across the plasma membrane by: /
careAT fRieet # 3Rl e $8F qanr aifa &3 &
1. Facilitated diffusion / gfaem fa@xor

2. Osmosis / 9TEIOT

3. Simple diffusion / TeT faa”oT

4. Active transport / Tfshd IRageT

Correct Answer :-

« Simple diffusion / T fGaEOT

93) In which stage of meiosis does the actual reduction in chromosome number occur? /
I feTee & e =T F qUrgE wEAr # adafas Fwe g 87

1. Telophase II / SalTthat 11

2. Anaphase 1/ TaiTthot 1

3. Anaphase Il / TeATthoT 11

4. Telophase I / Telithar 1

Correct Answer :-

« Anaphase I/ TAThoT 1

94) Synaptenemal complex is formed during: /
ABACIAAT FiFcadd HT AATT 37 SR 8T &
1. Pachytene / THT 3TaEAT

2. Diplotene / GJAUg 37aeT

3. Zygotene / JIFHF Ta¥AT

4. Diakinesis / IRITTcIshaT

Correct Answer :-

« Zygotene / JIAS Ha&ar

95) An element that is essential for nitrogen metabolism is: /
TS dcd Y A II99d & AU raeTs §:
1. Boron / RTeA



2. Magnesium / HIHTA™IH

3. Iron / &g
4, Molybdenum / Fifores=at

Correct Answer :-

« Molybdenum / Ffoesa1d

96) Nissl’s granule is composed of: /
feaa s e @ o= g &

1. Mitochondria / ATSEIRI o5 AT (FAHTOTAT)
2. RNA / ARTAT

3. DNA / 31T
4. Ribosome / IS

Correct Answer :-

« Ribosome / TBSIEH

97) Name the type of tissue that has cell junctions. /

I UHR & a6 & 417 ad30 forgs A sFerT (Hifdsr ) 8 &
1. Muscle tissue / 92 e

2. Nerve tissue / dTAT S

3. Epithelial tissue / 39chell S

4. Connective tissue / TS Fcieh

Correct Answer :-

« Epithelial tissue / 39hell Fd$h

98) CANCELLED

Which of the following is an INCORRECT development process of post fertilization changes? /

fafef@a & ¥ sia-d@ Peaicar Radat i & T e gfma
1. Development of seed from ovule / SISliE & &iaT FI AFE

2. Development of endosperm from central cell / &I HIfART T S;I;UTCITGT 1 A
3. Development of embryo from zygote / a&HeTol q T T ICEQr;]

4. Development of fruit from ovary / 33T & el &I faerd

Correct Answer :-

« Development of endosperm from central cell / G HIfART T SH;UTCITGT Fr faera

99) CANCELLED



Parenchyma can be distinguished from collenchyma by: /

NeFBAT F1 FePFAT § T garT #g B o1 g §:

1. The shape of the cells / PIFABTIT HT 3THFR

2. The presence of intercellular space / RRTAS TAT Fr 3ufEafa

3. The presence of nucleus / Fegdh HI 3UTEATT

4. The presence of thickenings at the corners /Il I Eelel &r 3ufeufa

Correct Answer :-

« The presence of thickenings at the corners / &lell G Eelel $r 3ufFyfa

100) An official enumeration of population with age, sex, occupation, etc is called ./
3y, T, sagwam anfy & waftra sfaeRe aRerorr # Fed B

1. Population density / STTTHEAT Oslcd
2. Demography / STTTETTEIGIT

3. Census / STTdTOTAT

4, Population dynamics / STeTH&AT ITfaehr

Correct Answer :-

e Census / STeTdTOTAT



